DIdoN yia - AXIinn 2950 nIXnon

1| (x+4) = 11.| (6-x) =

2. (6+y) = 12.| (t-10)* =

3.0 (9+1)" = 13.| (8-3x)’ =

4.| (3x+3)° = 14.| (-7+x)7 =

5.| (5+2y)° = 15.| (-8+2y) =

6.| (5x+10y)* = 16.| (-3a+9b)° =

7.| (Ba+3b) = 17.| (x—yz)* =

8.| (1x+2y)* = 18.| (-3ab+b)’ =

9.| (4p+12t)’ = 19.| (4p-xy)* =
10. | (8x+9y)* = 20.| (9a-5d)’ =




NNAIYN - DIDON VIA - AXjimn 2950 NIXNON

1.| (x+4)? =x2 +8x+16 11.] (6—X)? =36—12x+ X2

2. (6+y) =36+12y+y? 12.| (t-10)* =t* - 20t +100

3. (9+t)° =81+18t +t2 13.| (8-3x)" = 64— 48x+9x

4. (3x+3)° =9x* +18x+9 14. | (-7+x)* =49 -14x+ %

5.1 (5+2y)* =25+20y +4y? 15.| (-8+2y)* =64-32y+4y*

6.| (5x+10y)? = 25x* +100xy +100y? 16.| (-3a+9b)* =9a? - 54ab + 81b°

7.| (8a+3b)* = 64a” +48ab +9b® 17.| (x—yz)? = x* —2xyz + y°z°

8.| (L1x+2y)? =121x% + 44xy + 4y? 18.| (~3ab+b)” = 9a%?® —6ab? +b?

9.| (4p+12t)> =16p® +96 pt +144t> 19.| (4p-xy)’> =16p° —8pxy + x*y?
10. | (8x+9y)* = 64x° +144xy +81y* 20.| (9a-5d )2 =81a® —90ad + 25d?




O'YIA" U1on — Xipn 79> nixnon

1.| (x+5)(x=5)= 11.| (6x—9y)(6x+9y) =

2.| (6+y)6-y)= 12.| (t+8)(-8+1) =

3. t-7)(t+7)= 13.| (1+6X)(—6x+1) =

4.| - p)(L+p)= 14.| (4+ ptz)(—ptz +4) =

5.| (2x+5)(2x-5) = 15. | (~12k + kn)(kn +12k) =

6.| (7x+4)(7x—4) = 16. | (8x+6y)(8x—6Yy) =

7.| (8-3x)(8+3x)= 17.| (3r+11)(3r —11t) =

8.| (9a+10b)(9a—10b) = 18. | (~ax+bx)(bx + ax) =

9.| (yz-2)(yz+2)= 19.| (~13c+10d)(13d +10c) =
10. | (xy —t2)(xy +1z) = 20. | (2x+3y)(2y +3%) =




NNNNO - 0'VIAN YIOa-XIpgnn 7950 NIXNOIA

1.| (x+5)(x-5)=x*>-25 11.| (6x—9y)(6x +9y) = 36x° —81y?

2.| (6+y)(6-Yy)=36-Y 12.| (t+8)(-8+t)=t>—64

3.| t-7)t+7)=t*-49 13.| (1+6X)(=6x+1) =1—36x2

4.| (1-p)A+p)=1-p? 14.| (4+ ptz)(—ptz + 4) =16 — p°t’z®

5.| (2x+5)(2x—-5)=4x*-25 15.| (—12k +kn)(kn +12k) = k?n* —144k>

6.| (7x+4)(7x—4)=49x* -16 16.| (8x+6Yy)(8x—6Y)=64x>-36y”

7.| (8-3x)(8+3x) = 64— 9x2 17.| (3r+11)(3r —11t) = 9r? —121t°

8.| (9a+10b)(9a —10b) = 81a* —100b* 18.| (—ax+bx)(bx + ax) = b*x* —a’x*
(~13c +10d)(13d +10c) =

9.| (yz-2)(yz+2)=y?z* -4 19.| -169cd —130c? +130d? +100cd =
130d? —69cd —130c¢?

(2x+3y)(2y +3x) =
10. | (xy —tz)(xy +1z) = X2y? —t?z? 20.| 4xy+6x* +6y> +9xy =

6x* +13xy + 6Yy°




axgpm 29> nixnon 9"y 7N'S

1.| y*-16= 11.| X +4x+4=

2.| 25-x2 = 12.| y*-10y+25=

3.| 482 -1= 13.| 121+22a+a’ =

4.| 9y*+49= 14.| 196-28z+172° =

5.| 144-25x* = 15.| 4x2 +12xy+9y? =

6.| —121x° +y* = 16.| 64a®>—96ab+36b° =

7.| 81a% —64b? = 17.| 100t> —180tv + 81v* =

8.| tP-4= 18.| 30xy +9x° +25y* =

9.| 75x* —-12y* = 19.| 16a* + 64z° —64az =
10.| 32x* -8y* = 20. | —28mn+49m? +4n? =




2XI7NN 7930 NIXNON 'OV PIN'9-NIINNY

1.] ¥y -16=(y+4)(y-4) 11| X2 +4x+4=(x+2)

2.| 25-x2 =(5+x)(5-x) 12.| y*-10y+25=(y-5)

3.| 4a°-1=(2a+1)(2a-1) 13.| 121+22a+a? = (11+a)’

4.| —9y*+49=(7+3y)(7-3y) 14.| 196 -28z+ 7% =(14- z)2

5.| 144-25x* = (12-5x)(12+5x) 15. | 4x2 +12xy +9y? = (2x+3y)’

6.| —121x° +y® = (y+11x)(y —11x) 16.| 64a’—96ab+36b* = (8a—6b)’

7.| 81a% —64b? = (9a+8b)(9a—8b) 17.| 100t* ~180tv +81v* = (10t — 9v)’

8.| t*—4=—(t"+4) 18.| 30xy +9x* +25y* = (3x+5y)’

9.| 75x* —12y* =3(5x+2y)(5x—2y) 19. | 16a° + 642 —64az = (4a—8z)’
10.| 32x* —8y® =2(4x+2y)(4x-2y) 20.| —28mn+49m? +4n? = (7m—2n)2




